2 Z§Zio| O|C|0|(E= 2EHIX)7| SHEEe| Mziut B3l 0|kl= HE (491 : 57 M m2R)

g2 2ot | = | =2 | 3 | =
Al 474 484 475 462
f5E 466 477 464 459
TV Qzt2 464 465 466 461
2-40|clof 455 441 4.60 459
e 452 447 456 447
27 449 452 450 444
QIER = 446 435 449 449
OHL|efjo | A4 440 449 439 435
Faf/=2tof 4.40 435 441 443
e 413 4.06 421 400
2 403 401 408 3.90
HA 382 368 3.83 398
o 3j0| ACKSE) / Aol Faol |IcH1E)
2  O|C|o 2lEf2A] g LIBE ER% (E491 : 53 A= B
8et am = | 2 | & | =z
O|C|E R2/X0|m &2 QA 0|88 ~ U= WHE sl= s 483 487 483 478
ojcjof Egx0| LHR0|Lt EHE HEEo 2 EMstT OfsHSI=E sH= 1S 479 476 479 481
O|C|oE S8l Al2l2t 250l tisl olslsi=E ol W 462 463 463 459
O|c|ofel AtEls Satat 2k2 22lE AAIE 22 oleisH otz 1= 454 443 457 460
CIfst o|clojoll chis 2ot= 1 FEstd HEdEE =0l v 4.53 447 453 459
O|CIE E&al Xl Mzt L2S 33610 HASH=E ol 1= 451 4.65 448 444
0|C|01E 285 MEE 2SI Metsle BiHS ol5l= ng 448 448 447 451
0|C|of ZeI=7} 0|0l Msh= WAS OfF6l=2 sl= 1= 439 438 439 438
CIXIE Ocjof 7|& §#88 4 = Wi olsl= ug 417 423 418 406
0P BRSICHEE) / T8 EREHX] RCH1HE)
2  =A BlEZA| 28 LBYE =0T (29 : 57 3E BAy)
S5 g | = | =2 | &8 | =
A FEIXO| IR0 BHS HEXoR BAM5IT Offt=E sl 1R 470 472 468 474
SA OIRAIZAIS] 829 &2 Q= 0|2 WS ol5| 1 AlMSH= 1] 467 463 468 470
SAE Safl At 23101 thsf olsHEl=E st 1 455 453 455 456
SA0] s LoHE T ZEsI ML B0l B 444 439 446 446
=A0| AEA| 23in} &I |2 AR ofsfa she 2] 442 431 445 446
SAZ HAEOR HMEHT Melsi= WS ol5le ng 442 436 443 447
2A7} o|njE Metsls YAIS Ol5Hsl =S Sl 1) 437 434 438 438
‘T AO| HER XAlC| A2tn} LIS B3 MARIEES Sl 2] 423 434 421 414
SA HE| LeSHCIXE 7142 S8 4 U= HHE Asl=nR 3.80 387 381 368

L SREICHEE) / Hal Z2akx] o1 E)



# - OjCjo] 2 U] 80 Fisk (E91: %)

S5 2t | = | 2 | & | =
ojc|of u= 97.14 9588 98.31 9529
ojc|of 8= ns 9593 97.94 96.19 9294
A EHE NS 94.26 9485 95.34 9059
0|C|of 2|EA(SSH, 24d) 1= 84.49 87.63 82.7 8588
A BERA| 2= 7122 7113 69.79 7529
O 210] ws 69.86 61.86 72.88 70.59
CIXE BlE2A 15 61.34 6598 5992 60.00
'B7l°| mEE S0E 0| Urkel SE viE
=1 BP0 Z7KAT DiCof 2B AR EE HEY) @91
sg ot | | =2 | & | =
HEZISTEE S 0]C|of 2 7|2t |Lt Thaef S 58.64 60.00 58.44 57.65
AR 71He] 2| (R 4= 23 5569 51.68 60.00 4881
AR XA sk ZEA & 54.59 54.26 53.33 58.33
CHEH(ER) 22 5248 43.16 56.00 53.57
& ApA| S 49.50 59.38 4798 4217
B e 45.00 35611 48.20 47.62
18 AL I g4 3342 20.21 3744 3797
Chats 2l 30.30 2553 30.73 34.52
‘H7let 2 Hello] IS WORE AR HIE
#-2 2ol E7REE OIClof 2 A LIS (91:%)
sg #Zat | = | =2 | B | =
AEEE S 8599 89.69 87.55 77.38
ICT 88 us/ADIE U] 76.03 81.44 74.89 7294
S HE s 59.12 67.71 56.71 5595
A EE IS 57.73 60.82 59.66 48.81
CHEA/ CHEEE 5531 54.64 5474 57.65
7iRLA0|4/0|c|of O 4867 50.52 50.22 4235
el 4383 39.18 45.69 44.05
A 2EHA Bs 4237 47.42 40.69 41.18
oA Ho| ws 41.79 36.08 4569 37.65
A-40|C]0] = SNS 33.98 35.06 33.91 3294
=emt/Est 27.80 258.77 29.26 26.19
AlZt 25t = 18.54 28.13 14.35 19.05
Al 16.63 2292 15.72 11.90

‘B0t 22 LR0| nS'S Bohs Aol vig



#  O|C|o] 2lE2{A] BRS CHE7|of &Est o= (£53] : 53 At wz)

=R o | 2 | 3 | =
Ssim AR | T8 M 2S5 472 457 4.80 465
ALZ] 467 4.58 4.67 479
ol M dS(Sore| €5 8) 467 4.60 469 4.69
2of 457 457 465 437
S8 way/mat E8 Y 4.56 4.39 4.59 4.69
=y 4.33 4.16 4.39 436
At 417 419 417 412
HFE/a 4.12 4.15 413 4.06
ot 3.81 3.72 3.86 3.77
ol 371 377 369 3.69
Zol/2=04 3.71 3.37 383 347
UG- 3.54 3.55 3.52 3.56
g9 345 347 3.42 351
45} 3.00 2.98 3.04 2.89
P E=3 2.89 2.86 292 2.83
O HBISICHSE) [ H2) RSI8HA| ih1 &)
- Ojc)of 2lEfA] mE EESIE 6] 2 Wt (&9 573 2IE BRE)
St zn | =W | = | 3 | =z

Wt Y EBEE P8 RE LD B 463 4.43 4.72 460
W} A U 9Bt K12 AW} B 463 447 469 465
ATl GAIE, S8 54 X2 g 23 455 4.42 462 449
W 01C|0f 2IERIA| £ SOl Cifst mAf 914 450 456 450 4.45
Stwelojc|of 7[s3} 77| 0|2 = 7 449 4.33 4.58 4.41

S X131 (0] S8 4 he niciof 2IEfRIAl 2 210] thEt mA 214 447 4.39 453 4.37
M3} 217} 0ICIf 2IEfRIA| 2 Sieol Cifgt A} P14 446 447 447 440
SesY A g2 Es 4.43 4.37 4.45 4.45
Sp=2) 0/CI0] 02 23} Ol#HE P18t mA} 24 4.43 4.43 4.46 4.36
WARS] 0clof HixH53 AR Bt et 4.25 416 4.29 4.22
Ojcjol(frA &) HElet o] 2 S8 ol 4.23 4.26 423 417

s HRSICHEE) / Tal LS| RIei1E)



